Ratio to CMS

1/0 0 A0y /dChl iy
o
H
(@))

o
=
0]

o
=
D

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

0.5

8000 GeV pp

[ | T T T T 1T T 1T 7 | T T 0 I [T | ]
. Di-jet X (3000 < Mjj < 3600) —
B m CMS _
— —4— Pythia 6.428 370 )
- —-f1-- Pythia 6.428 391 -
. Pythia 6.428 default ]
— —&— Pythia 8.301 default —
= _
[ | | | | | [, | | | | | | [ | []
: T T T T | T T T T | T T T T | I:
1 1 1 1 " | " 1 " 1 1 1 | 1 1 1 1 | 1
0 5 10

Rivet 3.1.0, = 7.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


